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L3 Trigonometry 2

Section 5.4 Sum, difference and product formulae
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Changing products to sums or differences

2sin A cos B = sin(A + B) + sin(A — B)

2 cos Asin B = sin(A + B) — sin(A — B) S
2cos A cos B =cos(A + B) + cos(A — B
—2sin A sin B = cos(A + B) — cos(A — B)

~ Example 1 )

Express as a sum or ditference: (i) 2cos3xsinx (ii) cos fcos 56

o 2055 5 b =Sin (8)-5n (A- 0 )
A =3x QcsdIx Sk = Dun bX —Sin 2x
B=x

5| 2eothent = c(Ar®) + o (B-2)
' D CosAces® = [ cos (A+E + Cn(A-B)
Lot A=0 cos Deos SO = —;—_[c.s (6e) +ces (—qe)]
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T&T4 5.4 Sum, Difference, Product Formulae

Changing sums and differences to products
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sin A + sin B = 2 sin
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sin A — sin B = 2 cos sin
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cos A —cos B = —ZSiH‘AZLBSiH¥
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((:OSA+COSB = 2 cos
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— Example 2 )

Express as a product

A= SA
B= 3A

(i) cos SA + cos 3A

(ii) sin3A —sin A

&

F 9— Cos A CoSA

CosSA + cos3A = 2 ces(€n+sn)c..v.(m_-fm)
o~

—~ Example 3 )

sin34 —sin2A4 +sinA4 _ tan 2A.

Show that

SA +Sinb = 28ia &g&s ‘l;_-‘

CosA+Ges = 2@5".?0.; %’:‘
=
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cos 3A +cos A — cos 24

SM2A +5inhA = L sin LA S A

os2A tCosA = 2 G5 2Ac=s A

2 sin 2A cos A — SindA
A cos LA cosA — Ca82A

LAS =

= Sin2A (Lcorh 1)
Cos2A (2 CosA=1 )

= tun2A

A+B

sin A + sin B = 2 sin COST

sin A —sin B = 2 cos 5
cos A + cos B :ZCOSA;BCOS 5

cos A —cos B = —Zsinflzjsin#




	Page 1
	Page 2

